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The distance between two points on a graph whose rectangular coordinates
are (2p,11) and (5,8) is, most nearly .
(A) L8 (B) L.9 (c) 5.0 (D) 5.1 -

The socordinates of the point of intersection of the two lines y = 2x ¢ 5
and ¥y = 11 = x is, most nearly
(A) 5,7 (B) 0,6 (c) 1,4 (D) 2,9

The number of cubic inches in a cubic foot is
(A) 12 (B) 1Ll (c) 1728 (D) 20,736 <

Steel weighs approximately S00 ;f/c.fe The weight of a steel pig
6t x Lt x 21-6n i3, in pounds, most nearly -
(A) 2L,000 (B) 30,000 (C) 36,000 (D) L2,000 =

An eighth of an inch 1s, in feety, most nearly
(A) O (B) .02 (C) .03 (D) O3

The distance between 2 points on a map of scale 1" = 600 feet is 1/2 inch.
The distance on the ground is, in feet, most near.‘.ly

(A) 150 (B) 300 (c) 6&éco (D) 1200

The cost of 1000 steel rivets at 25 cents a dozen is, in dpollars, most nearly
(A) 333 (B) 20.83 (C) 8033 (D) 2500 -

The area of a circle whose diameter 1s 0,5 feet is, in square iInches, most nearly
(A) O3 (B) 1S (c) =28 (D) 36 -

The area of the figure shown velow i3, most nearly

1O 10

el l (A) 2lco
- (B) 200
(C) 3co

(D) LOO

is’

The sum of the interior angles in a closed five-—-sided figure in degrees,

most nearly

(A) 180 (B) 360 (c) L8o (D) 5LO




image6.png
The length of the chord AC cquals
(A) R (B) 2 R sin %_ (C) R tan A () RA

The length of D E in the dlagram above is
(A) Rsec A - R (B) R versine A (c) RA -R

(D) R tan A sin A
: = =z

The distance between two points LO0.,00?! apart is measured with a steel
tape., The tape is not held level while measuring. Neglecting other factors,

the recorded length will be

(A) greater than LOO,00? (B) LOO,00:! (C) less than LOO,00!' -
(D) possibly greater or less than LOO.,00?

el

The specific Federal Agency responsible for establishing Bench Marks is the
(A) Treasury Department (B) Coast and Geodetic Survey (C) Federal
Security Administration (D) Army Engineers ;

One end of a 100t tape is held 4' higher than the other end. The actual dis-
tance measured is

(A) 100,16 (B) 100,08 (Cc) 100 00 (D) G992
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The distance between two points LOO,00! apart is measured with a steel
tape on a very hot day,. Neglecting other factors, the length will

(A) be recorded greater than LOO.0O!? (B) be recorded LOO,00?
(C) ©be recorded less than LOO.0O? (D) not be recorded,

A radian 1is

(A) a long radius (B) the length of an arc of a circle in inches
(C) a mechanical device for mcasuring the length of arcs
(D) a unit for measuring the length of a circular arc.

While taping from A to B the tape was not held level, then the recaorded
distance was

(A) too small (B) unaffected by holding the tape out of level

(C) too great or too small depending on whether the head chairman held
the tape too high or too low (D) toco great

The nmumber of seconds in a degree is, most nearly
(A) 60 (B) 3600 (C) 21,600 (D) 86,L00 =

In the diagram shown below, the bearing of line BC is, most nearly

C A

(A) N LS° W (B) N 85° w (c) s 31° (D) N 36° W
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The primary differenee between a transit and an engineerfts level is

(A) the engineer's level has greater magnifying power (B) there are no
horizontal and vertical circles on an engineer's level (C) a transit -
can not be used for levelling (D) the transit has internal focusing

and the engineerts level external focusing

In differential levelling, a backsight is

(A) the distance the line of sight is above the ground undexr the level
(B) the horizontal distance from the level to the point where the reading
is being taken (C) a level reading taken twice to provide a check on
the work (D) a rod reading on a point of known elevation to determine

the height of instrument

A contour line on a topographic map

(A) Joins points of equal elevation (B) Joins points of equal declination
(C) has a uniform slope (D) is the outline of the plot

2627 feet is, most nearly

(A) 2 feet 2 1/8 inches (B) 2 feet 2 7/8 inches (C) 2 feet 3 inches
(D) 2 feet 3 1/L inches ,

O degrees latitude ic at

(A) the equator (B) Greenwich, England (C) the North Pole
(D) the South Pole

Roads are banked around a curve becausc .
(A) it aids the driver in seeing around the curve (B) it prevents
centrifugal force from throwing the car off the road (C) 4it aids in

landscaping (D) it facilitates the design of the gurve,
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The diagram shown below is called a

(A) tangent curve (B) secant curve ' (C) sine curve (D) cosine curve

The sine 21° O' = .358L4 and the sine 21° 10! = 3611, The sine 21° Oht' is
(A) 3589 (B) 3591 (C) 3593 (D) 3595
If the three sides of a triangle are given, the best formula to use to

determine the area of the triangle 1s

(A) s (s —-a) (s =Db) (s - c) (B) 1/2 a b sine C (C) ;_2_\’3
(1)) c2 = a2 $ b2 - 2 a b cos C

Sin 30° a 0,500
Cos 30° = 0,866

1 & B

The length of the side A C equals approximately
(A) 12,00 (B) 1L.l12 (C) 2L.25 (D) 28,75

For a circle of diameter 10" the area of an inscribed square 1is

(A) 25 square inches (B) SO square inches (C) 75 square inchéa
(D) 87 square inches
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Thirty miles pexr hour 13, in feet per second, most nearly
(A) LL (B) 66 (c) 88 (D) 110

Change in velocity per second 1is

(A) speed (B) impact (C) accelexration (D) momentum

The diagram shown below applies to questions numbered 5i to ¢ inclusive,

Cos 30° = 0,866

The racb.us of the circle circwiscribing the equ.ilateral triangle shown
above is approximately

(A) L.33 (B) 5.77 (C) 8.66 (D) 17.32

"

The radius of the inscrii2d circle of the equilateral triangle shown above

is approximately

(A) 2.89  (B) 3.00 (C) 5.00 (D) 8.66

Pl

The area of the equi.ateral triangle shown above is approximately
(A) L3.3 (B) <O (C) 86.6 (D) 100 Y75
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The perimeter of a regular hexagon whose radius of the circumscribing circle
is 10 inches is

-
i 4

(A) 6éO0 inches (B) 66 inches (C) 72 inches (D) 8L inches

The cos 75° equals
(A) ?1%1_75"’ (B) / L = sin 75° (c) sin 15° (D) sec 15°

The area of a square is 256, ‘l'hs pexrixeter is
(A) 64 (B) 70 (c) 76 (D) 8L

The perxrimeter of an equilateral triangle whose altituds is 8 is, most nearly
CA) 28 (B) 2L (c) 22 (D) 36 ‘

A body traveling at 30 mph accelerates at 10 miles per hour per second for

3 secands, Ita final speed will be, in miles per howxr, most nearly

(A) 30 (B) &0 (c) so (p) 120

One square inch of steel one foot long weighs 3.14#. The crossectional area
of a steel beam weighing 51 pounds per foot is

(A) 10 square inches (B) 15 square inches (C) 17 square inches
(D) 20 square inches




image3.png
In a right angle triangle where A is an acute angle, Sin A = 04,6 then

Cos A is most nearly
(A) Oab (B) 0.6 (C) 0.7 (D) 0.8

L

The sin of 120° equals algebraically
(A) cos &0° (B) sin 60° (C) —cos &0° (D) -=sin &0O° -

If three men can do a job in six days, two men can do the same Job, most
nearly, in the following number of days
(A) L (B) 9 (c) 12 (D) 18

Two trains 300 miles agpart, each traveling 60 mph toward the other will
meet in, most nearly

(A) 1 hour 10 minutes (B) 2 hours 30 minutes (C) 3 bhours 20 minutes
(D) 5 hours |

w
u -
<
J
.£
45° Q
ZS inches
The area of the trapezoid shown above 1s —
(A) 150 square inches (B) 200 square inches (C) 250 square inches
(D) 300 square inches
The sine of 240 degrees equals
(A) +# sine 60 degrees (B) # cosine 30 degrees (C) -~ sine 60 degrees

(D) # sine 120 degrees.




image4.png
In the diagram shown belcw, the area of the figure 1is, in square inches,

most nearly

| -

(a) LL (B) L5 (c) L6 () L7

The hypotenuse of an isoscelesgs right triangle is 10 inches, The altitude

to the hypotenuse is, in inches, most nearly
(A) 2.5 (B) L (c) 5 (D) 7.2

The area of the triangle described in problem isy, {in square inches, most

nearly
{a) 35 {B) 2r (c) 3o (D) Lo

The ratio of the cirsumference of a circle to its dismeter i=s
A) K B) & c (D) %W
) - {B) - c) T )

very point on a plane curve 1is e@iﬁstmt from a given point, Such a
arve is called a
.) ocirocle (B) parabola (C) hyperbola (D) ellipse




